| number of missing inner layers | number of missing outer layers
missing_inner_layers missing_outer_layers
l= T T T T T ™ Entries 487 1 T ™ Entries 487
E . . . . . . Mean 0.08419 . . Mean 0.3655
r Std Dev 0.4191 N : Std Dev 1.416
10_15— mllsslng;lnnerilayers 10_1 """"" ‘ 7 mlssmg;uuteri\ayers
= Entries 488 : Entries 488
r Mean 0.08402 : Mean 0.3648
Std Dev 0.4187 : Std Dev 1.415
1072 T 102 5T T Feeeeeeee -
E missing_inner_layers E N missing_outer_layers
o Entries 488 o : . i [Entries 488
3| Mean 0.08402 ) I e H 1. | Mean 0.3648
10 Std Dev 0.4187 10 : : Std Dev 1.415
: T T ] : : [
I . missing_inner_layers o missing_outer_layers
-4 . ... ] Entries 1 -4 Entries
10 E H . | Mean 10 E Vlean
F : Std Dev F Std Dev
10_52_ .E\.. . R Y R 10_52_ .................. B LR Leemeaaaan Beeeeamnnn
o'IDU [ERTE FERTE PR |I ..III oDU-} II
g f P P g f ' '
@ L @ L
= B e tS EEETEEPER PEP PP
0.95L b e 0.95L : :
0 1 2 3 4 5 6 7 8 9 10 0 5 10 15 20 25
——— obal toriginal__RECO
== DQM_V0001_R000000001__Global mkFltNewDett RECO
mean hif == DQM_V0001~R000000001 _Global _mkFitNewDett33__RECO
= DOM_V0001_R000000001 _Global__mkFitNewDett04__RECO
— 40 T T T T T . Entries 487
n . . . . . - 19.07
> [ 4.151
A [ 1
@ 35
= B 488
\ 19.06
B 4.153
30 : : : : : : I
10F: : Fuies 48|
» 19.06
25 o 4.153
I g 5 : ;[ Entries 786
20 . Mean 19.07
----- b : . 17 Std Dev
15
1
1,0""'"""""""""'i""
o «OF 4 o +uf
= i i i y =
¢ r . . . . ¢ r
1 T
1l I|| |'|||H| |I||||I|'|||%” il NI
0.95L ; : 3 ; : ] 0.95L :
3 -2 -1 0 1 2 3 0 5 10 15 20 25 30 35 40
track n track hits
[Nofreco track vs pT |
num_simul_pT num_reco_pT
Entries 137153 T T Entries 543
Mean 2.109 lo—l__ e P - - [ Mean 16.38
Std Dev 5.975 E . Std Dev 24.32
B | E . B
num_simul_pT L N I..gumirecoipT
Entries 137290 2| . Entrigs 544
Mean 2.108 107°E : Mea 16.35
Std Dev 5.973 E H Std Dev 24.31
: [ I : : I
num_simul_pT B . num_feco_pT
tries 137290 :]_0'3 E H Entries 544
Me 2.108 E : Mean 16.35
Std Dev 5973 E : Std Dev 24.31
. o : . I
num_simul_pT (. H num_reco_pT
Entries 37133 10 E H Entries 54
Mean 2.108 F N Mean
Std Dev 5.973 N : Std Dev
= 5 .
..... 10 E_“““““E R
el ol ol
| 010} | |
=
< [
o N
e < - - - - 1 0 I B T T, SR
095 : : v . 005 : : ; .
10 1 10 10 10 10 1 10 10? 10

track p_



	Contents
	Page 1


